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int spieler =

#i ncl ude <i ostreanp
usi ng nanmespace std;

char quadrat[10] = { ,

int checkw n();
voi d board();

int main()

char mark;

do
{

board();

1,1, ei ngabe;

spi el er=(spi el er%) ?1: 2;

cout
cin >> ei ngabe;

mar k=(spi el er ==
if (eingabe == 1

quadrat[1] =
el se if (eingabe

quadrat[2] =
el se if (eingabe

quadrat[3] =
el se if (eingabe

quadrat[4] =
el se if (eingabe

quadrat[5] =
el se if (eingabe

quadrat[6] =
el se if (eingabe

quadrat[7] =
el se if (eingabe

quadrat[8] =
el se if (eingabe

quadrat[9] =
el se

{

<< "Spieler "

1) 2

&% quadrat[1] ==

mar k;

<< spieler << "

== 2 && quadrat| 2]

mar k;

== 3 && quadrat| 3]

mar k;

== 4 && quadrat [ 4]

mar k;

== 5 && quadrat|[5]

mar K;

== 6 && quadrat| 6]

mar k;

== 7 && quadrat|[ 7]

mar k;

== 8 && quadrat| 8]

mar k;

== 9 && quadrat|[ 9]

mar k;

cout <<"Ungil tiger Zug “;

spieler--;
cin.ignore();
cin.get();

}

i =checkw n();

spi el er ++;

}while(i==-1);
board();
if(i==1)

Zahl

ei ngeben:

cout <<"==>\aSpi el er "<<--spieler<<" gew nnt ";



67 el se

68 cout <<"==>\ alUnent schi eden";

69

70 cin.ignore();

71 cin.get();

72 return O;

73 }

74

75 void board()

76 {

77 system("cls");

78 cout << "\n\n\tTic Tac Toe\n\n";

79

80 cout << "Spieler 1 (X) - Spieler 2 (O" << endl << endl;

81 cout << endl;

82

83 cout << " | | " << endl;

84 cout << " " << quadrat[1l] << " | " << quadrat[2] << " " <<quadrat[3] << endl;
85

86 cout << " | | " << endl;

87 cout << " | | " << endl;

88

89 cout << " " << quadrat[4] << " | " << quadrat[5] << " " << quadrat[6] << endl;
90

91 cout << " | | " << endl;

92 cout << " | | " << endl;

93

94 cout << " " << quadrat[7] << " | " << quadrat[8] << " " << quadrat[9] << endl;
95

96 cout << " | | " << endl << endl;

97 }

98

99 int checkw n()

100 {

101 if (quadrat[1l] == quadrat[2] && quadrat[2] == quadrat[3])

102

103 return 1;

104 else if (quadrat[4] == quadrat[5] && quadrat[5] == quadrat[6])
105

106 return 1;

107 else if (quadrat[7] == quadrat[8] && quadrat[8] == quadrat[9])
108

109 return 1;

110 else if (quadrat[1l] == quadrat[4] && quadrat[4] == quadrat[7])
111

112 return 1;

113 else if (quadrat[2] == quadrat[5] && quadrat[5] == quadrat[8])
114

115 return 1;

116 else if (quadrat[3] == quadrat[6] && quadrat[6] == quadrat[9])
117

118 return 1;

119 else if (quadrat[1l] == quadrat[5] && quadrat[5] == quadrat[9])
120

121 return 1;

122 else if (quadrat[3] == quadrat[5] && quadrat[5] == quadrat[7])
123

124 return 1;

125 else if (quadrat[1] != && quadrat[2] != && quadrat[3] !=
126 &% quadrat[4] != &% quadrat[5] != &% quadrat[6] !=
127 &% quadrat[7] != &% quadrat[8] != &% quadrat[9] != )
128

129 return O;

130 el se

131 return -1;

132 }
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